TECHNICAL
INFORMATION
CATEGORY

EEEEEEEEEEEEEEEE



BALANCE STANDARD FORMULA LIST

_|
m
A
T
=
R
>
>
=
z
O

Balance Grade ] c - G16 G40 G100 G250 G630 G1600 G4000

Precision Required | exw (mm/s)

Precision Required| exw (um 4rpm) 152800 | 382000 | 954900 |2387500|6016500( 15280000 [ 38200000

SETTING OF THE BALANCE SERIES IS
ACCORDING TO SO 1940 STANDARD .

THE FORMULA AS FOLLOWS: Quality levels according to ISO 1940 and
permitted residual imbalance or speed
U= M x e G = UNBALANCE SERIES ngg
U = UNBALANCE (g-mm) £
_ Gx M )
U= = 7 x 9549 ¢ =ECCENTRIC DISTANCE (mm) 5% .
€ 125
G= nxU M = ROTER WEIGHT (kg) g \040 /
9549 xM n=rpm ol .
9549 = CONSTANT S s G757
2 315

20
16
i D NS
Center Of Gravity Eccentric Distance Es (Géf 3\/
8
e 63 /S
(G,
5
4 <87
3.15
== &

=

()
[0}
o
c
©
8
£ =
= 9
(_“ _ 2
ST s I
k] 8 125 /
7
Gyratory Center 8 o =~
o ‘P 08 G
— T D s I 04\
Q 90 /
= @ 05
© e o4
O — o315
D o025
8 '\\‘ 02
L £ E o
E E o
= D) o4
nq_)BO-OB NN N AT
2000 3000 6000 10000 15000 20000 30000 50000
Maximal operational speedn  ( r.p.m ) rev/min

ya¥X General catalogue

i




REFERENCE DETAILS

o
L
=
-
<
=
e
I
)
L
—

1 12 13 14" 15" 16" 17"

Over Under

) 3" +08| +1.2] +2 +3 +4| +6| +10| +14| +25| +40| +60+ 0.1 +0.14+ 025+ 04 [+0.6
0 0 0 0 0 0 0 0 0 0 0| 0 0 0 0 0
3 6 +1 +15 +25 +4 +5 +8| +12| +18| +30| +48| +75+0.12[+0.18+ 0.3 + 048+ 0.75|+ 1.2 [+ 1.8
0 0 0 0 0 0 0 0 0 0 0| O 0 0 0 0 0
6 10 +1 +15 +25 +4 +6 +9| +15 +22| +36| +58| +90H0.15+ 022+ 0.36[+ 0.58+ 09 |+ 1.5 [+2.2
0 0 0 0 0 0 0 0 0 0 0| 0 0 0 0 0 0
10 18 +12| +2 +3 +5 +8| +11| +18| +27| +43| +70|+ 110+ 018 + 0.27 + 043+ 0.7 1.1 [+1.8 |+2.7
0 0 0 0 0 0 0 0 0 0 0| O 0 0 0 0 0 0
18 30 +15| +25 +4 +6 +9| +13| +21| +33| +52| +84|+ 130+ 021+ 0.33[+ 052+ 084+ 1.3 [+2.1 |+3.3
0 0 0 0 0 0 0 0 0 0 0| 0 0 0 0 0 0 0
30 50 +15| +25 +4 +7| +11| +16| +25| +39| +62|+ 100 |+ 160 1 0.25 + 0.39 + 0.62 [+ 1 + 1.6 |+2.5 [+39
0 0 0 0 0 0 0 0 0 0 0| O 0 0 0 0 0 0
50 80 +2 +3 +5 +8| +13| +19| +30| +46| +74|+120|(+ 190+ 0.3 + 046+ 0.74+ 1.2 +19 |+3 +4.6
0 0 0 0 0 0 0 0 0 0 0| 0 0 0 0 0 0 0
80 120 +25| +4 +6 | +10( +15| +22| +35| +54| +87 |+ 140|+ 220+ 035+ 0.54 [+ 0.87+ 1.4 2.2 [+3.5 |+54
0 0 0 0 0 0 0 0 0 0 0| O 0 0 0 0 0 0
120 | 180 +35| +5 +8 | +12| +18| +25| +40| +63|+100|+ 160 |+ 250 + 0.4 K 0.63 + 1 +1.6 +25 |+4 +6.3
0 0 0 0 0 0 0 0 0 0 0| 0 0 0 0 0 0 0
180 | 250 +45| +7 |+10 | +14| +20| +29| +46| +72|+115|+185(+290 + 0.46 + 0.72 [+ 115+ 1.85+ 2.9 |+4.6 [+7.2
0 0 0 0 0 0 0 0 0 0 0| O 0 0 0 0 0 0
250 | 315 +6 +8 |+12 | +16| +23| +32| +52| +81(+130|+210|(+320+ 052+ 081+ 1.3 [+2.1 +3.2 |+52 [+8.1
0 0 0 0 0 0 0 0 0 0 0| 0 0 0 0 0 0 0
315 | 400 +7 +9 |+13 | +18| +25| +36| +57| +89 |+ 140|+230(+ 360+ 0.57+0.89+ 1.4 +23 +3.6 |+57 [+89
0 0 0 0 0 0 0 0 0 0 0| O 0 0 0 0 0 0
400 | 500 +8 +10 [+15 | +20| +27| +40| +63| +97 [+ 155|+250|+400 + 0.63 + 0.97+ 1.55+ 2.5 + 4 +6.3 |+9.7
0 0 0 0 0 0 0 0 0 0 0| 0 0 0 0 0 0 0

Over Under

3 . o o 0 ol of o o| ofo 0 o |o 0
= -15]-25] - = -8 |-12 |-18 | -30| -48| -75|-0.12{-0.18|-0.3 |-0.48(-0.75]|-1.2 | - 1.8
6 | 10 0 o| o 0 o o 0 o| ofo 0 0o |o 0 0 0
-1 |-15|-25| -4 | -6 | -9 |-15 |-22 | -36| -58| -90|-0.15|-0.22|-0.36(-0.58{-0.9 |-1.5|-22
P 0| o 0 0 0 o| ofo 0 o |o 0
-12|-2 | -3 | -5 | -8 |-11 |-18 |-27 | -43| -70|-110|-0.18]-0.27[-0.43[-07 |-1.1 |-18|-27
8l 30 | 0 0 0 0 0 0 0 0 0 0 0| o 0 o |o 0 0
-15|-25|-4 | -6 | -9 |-13 |-21 |-33 | -52| -84(-130|-0.21]-033[-052[-084[-13 |-2.1{-33
o g | @ 0| o 0 (f o of o 0 o| ofo 0 o |o |o o | o
-15(-25|-4 | -7 | 5 |-16|-25|-39 | -62|-100 |- 160 |-025|-039|-062(-1 |-16 [-2.5|-3.9
s | g | © 0 0 0 0 0 0 0 0 o| ofo 0 o |o 0 0 0
-2 | -3 | -5 | -8 |-13 |-19 |-30 |-46 | -74(-120(-190 |-03 |-046|-0.74|-1.2 |-1.9 |-3 |-46
g0 | 120 | O 0| o 0 0 ol of o 0 o| ofo 0 o |o 0 0o | o
-25|-4 | -6 |-10|-15 |-22 |-35 |-54 | -87 |-140 |-220 |-0.35[-0.54(-0.87 |- 14 |-22 |-35|-54
120 | 180 0 0 0 0 0 0 0 0 0| o 0 o |o 0 0 0
-35| -5 | -8 |-12|-18 |-25 |-40 |-63 [-100 |-160 |-250 |-0.4 [-063|-1 [-16 |-25 |-4 |-63
180 | 250 | O 0| o o o ol of o 0 o| ofo 0 o |o |o o | o
-45| -7 |-10 |-14 |-20 |-29 |-46 |-72 |-115|-185|-290 |-0.46|-0.72|- 1.15|- 1.85|-2.9 |-46 |-7.2
50 | 315 | © 0| o 0 0 o o 0 0 o| ofo 0 o |o 0 0 0
-6 | -8 |-12 |-16 |-23 |-32 |-52 |-81 [-130[-210[-320|-0.52(-0.81|-1.3 |-2.1 |-3.2 |-5.2|-8.1
315 | 200 | © 0| o 0 0 ol of o 0 o| ofo 0 o |o 0 o | o
-7 | -9 |-13 |-18 |-25 |-36 |-57 |-89 [-140 [-230|-360 |-0.57|-0.89|-1.4 |-2.3 |-3.6 |-57 |-89
400 | s00 | O 0 0 0 0 0 0 0 0 0 0| o 0 0o |o 0 0o | o
-8 |-10 |-15 |-20 |-27 |-40 |-63 |-97 [-155|-250 [-400 |-0.63|-0.97|-155[-25 |-4 |-63|-97

®-
@ General catalogue




"O4NI TVDINHD3lL

Z-4

REFERENCE DETAILS

2EFEH

ls
4 T
. LA i

IIIII/l

17.78
23.825
6.5 31.267
6.5 44.399
8 63.348

18
241
31.6
44.7
63.8

2 6.3
3 7.9
4 6.5 11.9
5 6.5 15.9
6 8 19
JACOBS TAPER
TYPE 6/2 TAPER D
T2 2°19'52" 14.199
JT 33 1°49'01" 15.850
JT6 1°29'10" 17.170
JT3 1°31'26" 20.599
T4 1°29'59" 28.550
JT5 1°29'05" 35.890
DIN 238
TYPE 6/2 TAPER
B12 1°25'43" 12.065
B16 1°25'50" 15.733
B18 1°25'50" 17.780

General catalogue

14.6
19.8
259
37.6
53.9

14
19.1
25.2
36.5
524

ds

12.386
14.237
15.852
18.951
26.346
33.422

1.1
14.5
16.2

R

d:

ds

14 3/8" 16W, M10 x 1.5P
19 172" 12W, M12 x 1.75P
25 5/8" 11W, M16 x 2.0P
1" 8W, M24 x 3.0P
17 8W, M24 x 3.0P

22.225
25.400
25.400
30.956
42.069
47.625

18.5
24.0
32.0

i

117.5
149.5
210

24
24
32
40
47

315
335
42.5
52.5
61.5

1°25' 50"
1°26' 16"
1°29' 15"
1°30' 26"
1°29' 36"

DRILL CHUCK HOLE TAPER
SPECIFICATION

D

-

6/2

ds




REFERENCE DETAILS

2EFEH

TECHNICAL INFO.

MAS BT DIN 69872 - A DIN 69872 -B
ds % d ﬁ) < | " )‘
22 ey 23 727 ol RN
. / %ﬂ - 34 J H\

©
-t

BT30 - 45°
BT40 - 45°
BT50 - 45°
BT30 - 60°
BT40 - 60°
BT50 - 60°

16.5
23
38

16.5
23
38

11
15
23
11
15
23

10
17

10
17

12.5
17
25

12.5
17
25

DIN 69872 A & B PULL STUDS SPECIFICATION

43
60
85
43
60
85

23
35
45
23
35

45

18
28
35
18
28
35

45°
45°
45°
60°
60°
60°

M12 x 1.75P
M16 x 2.0P
M24 x 3.0P
M12 x 1.75P
M16 x 2.0P
M24 x 3.0P

P30T - 1
PAOT - 1
P50T - 1
P30T - 2
P40T - 2
P50T - 2

DAT30 - A
DAT40 - A
DAT50 - A
DAT30 - B
DAT40 - B
DAT50 - B

17
23
36
17
23
36

13
17
25
13
17
25

DIN 1835 - B END MILL HOLDER SPECIFICATION

8 8
10 10
12 12
16 16
20 20
25 25
32 32
40 40

28
35
42
48
52
65
72
90

M8
M10
M12
M14
M16
M18
M20

M24

10
12
14
16
18
20
22
26

35
39
44
47
49
54
58
68

18
20
22.5
24
25
24
24
30

25
28
32

44
54
74
44
54
74

@
A

- - 14
- - 19
- - 30
- 2.3 14
27 3.0 19
37 4.5 30
€3
ds
d
=) A
S| B
I
€4 €3
L &
5min

M12 x 1.75P
M16 x 2.0P
M24 x 3.0P
M12 x 1.75P
M16 x 2.0P
M24 x 3.0P

General catalogue

Z-5



o
&
KS]
g
S
=
o
[
IS
O
V)






